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Dear Year 5 and 6,

™ LZ
2R Thank you again for your continued hard work and thank you to those who have sent work NS

*

*

in, | have absolutely loved reading through it all. T am thriled with how hard you are dll
working. I am missing you all very much but hope you've dll been enjoying your time at
home.

This work pack is for the next three weeks and is still mainly focused around our end of

year culturdl topic ‘Austrdlia’l
Remember fo go on IDL and mathletics as much as possible and try to read everyday.

21 *
* X % Here are some other ideas of activities you might dlso like to try out:

e Joe Wicks is streaming live PE sessions Monday fo Friday on his YOUTUBE

channel.
e Try https://family.gonoodle.com/ to keep active

e Why not have a go at scratch and do some creative computer programming:
http://scratch.mit.edu/explore/pro jects/games/

e Get out info the garden and become a nature detfective and get some ideas at

https://naturedetectives.woodlandtrust.org.uk/naturedetectives/

e https://www.bbc.co.uk/bitesize/levels/ has some amazing resources which might -

help!
o Cosmic kids for yoga and stretching activities

e Search ‘peace out’ for stories to help you sleep.

Please contact me at any point by email or by phone as [ am always here to help. Enjoy

and stay safe!
D LZ  «

* 4 *'* Mrs Stocks

rachael.stocks@swarland.northumberland.sch.uk

twinkl.co.uk
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Cross curricular topiC based on Australia

N1z
mﬁ. IS
A ivity 1: -

Captai n Jamnes Coo%

. * « Captaih James Cook first discovered Australia in April 1770. Jse
Mk the internet to find out about who Captain COook Was and the
voyage that led hitn to discover Australia. You might like to find
out: What his ship was called, where did he lahd? Who did he
have with hit? What did he find there? (Jse a publishing package
such as Word or Publisher to record the kkey points that you
find. You might also like to import some images from @Google.

«Draw a labelled diagram of Captain COOK'S ship, write around it
what life was like on board. Could you make a model out Of
cardboard? Why not adapt it to make it your won but with an
18" Century feel?

« Many of the first people who were brought to live in Australia were
convicts! Find out what life was like for them onh board the ship.
Malke a list of the positive and hegatives points of being sent to
Australia from the UK.

«Write a diary entry from the point of View Of a convict. How are
you treated? How do you spend your days? What food do you L
eat? How are you feeling about the hew life ahead of you?

‘NVA_ W . Whenh Captain Cook and his men discovered Australia, there were
% *' already people living there. Who were they? How do you think
they felt about the arrival of these strange hew people?




.Watch Aboriginal dance and musiC on YouTube.
https://www.youtube.com/watCh?v=0OhyKSEn6_SO

o Traditional Aboriginal Food. Aborigines traditionally ate

rfoods that may surprise you ( and make your Stomach % % %
turn!) Write a menu fFor an Aboriginal meal!

o Aboriginal art symbols. Aborigines used paintings,
drawings and symbols onh roCks and Caves to tell
others where food ahd water could be found and what
ahimals were in the area. Have a g0 at Creating some Of
these symbols ahd pictures yourself. If you Cah, send a
piCcture to me to see if T Cah uhloCk your code!

o Aborigines used plants and some Creatures from the bush
to create mediCine. Find out what they used to treat:a
cold, burns, headaches, sores and wounds and teething ¥
babies!

e Gome Aboriginal tribes built shelters out Of StiCKS and
SESEN rocks, have a g0 Yourself!
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~4borigina| stori€>
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M . Ctorytelling is Very important in Aboriginal culture! Listen
t0 some traditional Aboriginal stories on You Tube. Try
searching for: The Koala with the stumpy tail, The
Rainbow Gerpent, Tiddalick the frog, How the
Kahgaroo got it’s tail or, How the turtle got it’s shell.
What do all of the stories have in common?

-
2 [ » i
* *

o Try tO Write Your own Aboriginal story— For Example: How
the Kanhgaroo learnt to jump, or Why the  spider has
eight |egs or perhaps, why the shake slithers.

DLz« . RSN
ZU . One Of the ways that Aborigines tell stories is through ik

E the use of ‘Dream Stones’ anhd the stories told are
called ‘Dreaming Gtories’ These stories are told by
drawing Symbols and pictures onto rocks and then [
using these as prompts to tell the story. Choosing one {{{

of the stories you have watched on YouTube, ColleCt
some flat stones and make your own dream Stonhes to

tell ohe of the stories you have watChed.




o Traditional Aboriginal art consists of: body art,
roCk engraVving, dot painting, symbols in the sand
and rock painting. [Look oh Google images for
some examples and fill in @ comparisonh Chart sy
looking at the materials ahd colours used and
the purpose Of each of the examples Of art.

R¢

*

o TrY reCreating some of the Aboriginal art you have
seen (sehd us pictures please!)

o [isten to the Digeridoo anhd traditional Ausmrahan
== sohgs on You Tube (e.g Waltzing Matllda,
Kookaburra etc.) [.earn ohe Of the songs. .
hetps://www.youtube.com/watCh?v=ISVNUV5X37
0

« Make your owh Digeridoo using cardboard tubes,
NE * decorate it with Aboriginal art!

Finally...if the weather is nice enjoy an >Australian’
barbecue in the garden!




Year 5

Grammar:

WB 22.6.20 revision 3 page 42 and 43
WB 29.6.20 writing task 3

WRB 6.7.20 final grammar test

Spelling
WB 22.6.20 words with the silent letter b, e.g. thumb, numb, crumb

WB 29.6.20 words containing the letter string ough, e.g. cough. sz
tough. thorough.

WB 6.7.20 words ending in ible, e.g. ternible, possible, sensible.

7| Please see activity suggestions in guidance handed out in the first

week.

Maths

Please find attached three mental arithmetic booklets, one for each 71*& s

week.

WB 22.6.20 line graphs and tables

Challenge - can you create your own data to make a line graph and o <

table?
DILZ &«
@ WB 29.6.20 measuring angles in degrees, measuring with a

protractor and measuring straight line angles

WB 6.7.20 lengths and angles in shapes, polygons and 3D shapes




Fluent in Five

Daily Arithmetic Practice

Week 12

w.- THIRD SPACE LEARNING



Fluentin Five - Year 5

Week 12 - Day 1 1] 1 SO ——- 27T | PR
Glasss s umurmannnrms e SO & oo v ananssses
1 1.45+3=
1 mark
2 | 7,894- = 3,858
1 mark
3 | 3x12=
4
1 mark

© Third Space Learning 2017. You may photocopy this page.



Fluentin Five - Year 5
Week 12 - Day 1

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

1. 1.45+3=4.45 (M)

2. 7,894 - 4,036 = 3,858 (W)

3 1=
3. - x12=9 (M)

4. 65x23=1,495 (W)

Loz ™

3 2+

For more free resources and intervention support go to thirdspacelearning.com



Fluent in Five - Year 5
Week 12 - Day 2

4 081 + 34,894 =

1 mark

3 183 x 100 =

1 mark

© Third Space Learning 2017. You may photocopy this page.




Fluentin Five — Year 5 N B TTIC. . eeeeieessssnrsonsssssssasessssosssnnnssnnnnsessssasannseessonssrsarsssssssansonsssssssnssntsssssssase

Week 12 - Day 3 1 RN CRRIRA e LT RP ST sehonl .
CLEES  cosuunsmvssnessmmsnsesrasessssssnssananass vivs SO i i
1 562 +8=
1 mark
2
5619
X 8
mark
3 654 + 100 =
1 mark

© Third Space Learning 2017. You may photocopy this page.



Fluentin Five —Year 5
Week 12 - Day 3

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

1. 562+8=70 or 70% or 70.25 (W)
2. 5698 =4,552 (W)

3. 654+ 100 = 6.54 (M)

4. 87-29=58 (M)

5. 98 + 165 =263 (M)

For more free resources and intervention support go to thirdspacelearning.com 11



Fluent in Five - Year 5
Week 12 - Day 4

4 654 +230=
1 mark
5 560+ 8=
1 mark
© Third Space Learning 2017. You may photocopy this page. 13



Fluent in Five - Year 5 =2 1= T T T

Week 12 - Day 5 BSOS R (o110 |
ClaSS i e i S O O T ey S
& 90 x 80 =
1 mark
2 6,549 x3=
1 mark
3 §2=
1 mark

© Third Space Learning 2017. You may photocopy this page.




Fluentin Five - Year 5
Week 12 - Day 5

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

1. 90 x 80 =7,200 (M)

2. 6,549 x 3 = 19,647 (W)
3. 82=64 (M)

4. 650 x 4=2,600 (M)

5. 56,789 - 1,294.76 = 55,494.24 (W)

For more free resources and intervention support go to thirdspacelearning.com

17



Fluent in Five

Daily Arithmetic Practice

Week 13

w - THIRD SPACE LEARNING



Fluentin Five - Year 5

Week 13 -Day 1 - 11 SO ——— SERODL...rerssisssiiisianiiisionsanmussirusussmersis
(o L R A P LU AL S COPE:sscaisusnipiimassssmsisvrvmmsssaeTiry
1 | 3 _
. of 28

1 mark
2 15,367 + 12,053 =

1 mark
3 199 + 198 =

1 mark

© Third Space Learning 2018. You may photocopy this page.



Fluentin Five - Year 5
Week 13 -Day 1

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

" %ofzs =12 (M)

2. 15,367 + 12,053 = 27,420 (W)

3. 199 +198 =397 (M)

4. 3,587+5=717r2 or 717 % or 717.4 (W)

5. 80 x 50 = 4,000 (M)

For more free resources and intervention support go to thirdspacelearning.com



Fluentin Five - Year 5
Week 13 - Day 2

4 | 67-34=

1 mark

5 500+20=

1 mark

© Third Space Learning 2018. You may photocopy this page.




Fluentin Five - Year 5 Nl AT s rissssemssmrevmmsusssnissymssmmnnssssasantressnsanssssarrevess s EO0F ISR LEETIVIRRR S REF]

Week 13 -Day 3 172 O P, T | O —
ClESS e R O T e
1 60 x4 =
1 mark
2
4167
X 6
1 mark
3 113x74=
2 marks

© Third Space Learning 2018. You may photocopy this page. 9



Fluentin Five - Year 5
Week 13 - Day 3

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

1. 60x4=240 (M)
2. 467 x6=2,802 (W)
3. 113 x 74 = 8,362 (W)

4. 800 -600=200 (M)

For more free resources and intervention support go to thirdspacelearning.com

11



Fluentin Five - Year 5
Week 13 - Day 4

4 | 944+7=
1mark
5 589 x 7=
1 mark
© Third Space Learning 2018. You may photocopy this page. 13



Fluentin Five - Year 5 o3 o < LU P T e ey

Week 13 - Day 5 Batevsmnarmmnasammampmies el TeYe) IOOUO OO
Clais S s AT R SO e S L R BTy
1 474 x 3=
1 mark
2 2
=16
1 mark
3 83-51=
1 mark
© Third Space Learning 2018, You may photocopy this page. 15




Fluent in Five - Year 5
Week 13 -Day 5

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this questio

3

1. 474x3=1,422 (W)

2. 42=16 (M)

3. 83-51=32(M)

4. 6,193 +2,208 = 8,401 (W)

5. 540+60=9 (M)

For more free resources and intervention support go to thirdspacelearning.com

17



Fluent in Five

Daily Arithmetic Practice
Week 14

«  THIRD SPACE LEARNING



Fluent in Five - Year 5
Week 14 - Day T B s 1 e L
(] [ T ——
il | B _
4 of 60
2
415/8|6|5
3 11x6=

© Third Space Learning 2018. You may photocopy this page. 3



Fluentin Five - Year 5
Week 14 - Day 1

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

1. %of 60 = 45 (M)

1

2. 5,865+4=1,466r1 or 1,466 4

or 1,466.25 (W)
3. 11x6=66 (M)
4. 27,488 + 19,543 = 47,031 (W)

5. 0x12=0 (M)

For more free resources and intervention support go to thirdspacelearning.com



Fluentin Five - Year 5
Week 14 - Day 2

4 737X6=

5 38+1=

© Third Space Learning 2018, You may photocopy this page. 7



Fluentin Five - Year 5
Week 14 - Day 3 D ate cormrmmsnms s s T

1 103 =

2 600,300 - 359,224 =

of 55

ul|w

© Third Space Learning 2018. You may photocopy this page. 9



Fluentin Five - Year 5
Week 14 - Day 3

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this questio

D

1. 10°=1,000 (M)

2. 600,300 - 359,224 = 241,076 (W)
3, %ofSS =33 (M)

4. 68X 7=476 (W)

5. 420 x 2 = 840 (M)

For more free resources and intervention support go to thirdspacelearning.com

11



Fluentin Five - Year 5
Week 14 - Day 4

z 108 + 9=

8 243+60=

© Third Space Learning 2018. You may photocopy this page. 13



Fluentin Five - Year 5

Week 14 - Day 5 DatBlsmminmnans s naninabads
ClasSnmmmsmmmmmmmnsimmsvasy
il 592x3=
2 120+ 60=

3 270+ 30=

© Third Space Learning 2018. You may photocopy this page. 15



Fluentin Five - Year 5
Week 14 - Day 5

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

1. 592 x3=1,776 (W)

2. 120 +60 =180 (M)

3. 270+30=9 (M)

4. 54,292 + 17,786 = 72,078 (W)

5. 500 x 500 = 250,000 (M)

For more free resources and intervention support go to thirdspacelearning.com 17



Read and Interpret Line Graphs

Read and Interpret Line Graphs

1a. By 8.50am, Bella had run 5 miles and
Seth had run é miles. Whose performance
is shown on the line graph?

Number of Miles Run in an Hour

Distance (miles)

800 810 820 830 840 850 9.00
ﬁ Time PS

1b. Last Friday, 12cm of snow fell in
Alaska, and 14cm fell in Greenland. Which
country is represented on the line graph?

Total Snowfall

16}

14 +
12
10 +

Snowfall (cm)

o N A o @
1 1
T T

Mon Tues Wed Thurs Fri Sat Sun
Day of the Week PS

¢

2a. Jen made a mistake when she plotted
her line graph. Where do you think the
mistake was made? Convince me.

Height of Tree

22 T
20

16 +
14 +
12 +
10 +

Height (feet)

o N oo
1

—

2014 2015 2016 2017 2018

W

Year R

2b. Simon made a mistake when he
plotted his line graph. Where do you think
the mistake was made? Convince me.

Charity Fundraising
14 -|-
12 +
10 +
8 +

6 +

Overall Total Raised (£)

o N b
t

t 1

Wed Thurs Fri
Days of the Week R

Mon Tues

¢

3a. Freddie said that the runner took 5
seconds to reach their top speed. Is he
correct? Explain why.

Speed of a Runner During a Race

15 1
14 -+
13 +
12 +
11 +
= 10 1

Speed (mp

O—=NWhOIoeN®Y
+———t

2 3 4 5
Time (seconds)

X

=

3b. Lily said that the average speed of the
car decreased after 4 minutes. Is she
correct? Explain why.

Average Speed of a Car

Average Speed

O=NWbhLONo-~NmD-O
1 ! 1

2 3 4 5
Time in Minutes R

CLASSROOM St

© Classroom Secrets Limited 2018

classroomsecrets.co.uk

Reasoning and Problem Solving - Read and Interpret Line Graphs - Year 5§ Developing




Read and Interpret Line Graphs

Read and Interpret Line Graphs

4a. Kim reached the finishing line of the
cycling race before Danny. Which line
represents Kim's performance?

Time Taken to Complete Cycling Race
20 +
18 ]
16 T
14 +
12 +
10 +

Distance (km)

a=fi==line A

==@==line B

8.00 810 820 830 840 850 9.00 ¢9.10
Time PS

o N B oo
—t

¢

4b. Last week, it rained less in Alabama
than it did in New Orleans. Which line
represents Alabama'’s rainfall?

Rainfall in Alabama and New Orleans

30 T
25 +
E 20 ¢
E
T 15T
£
210 +
a=p==|ine A
5 -
e=ll==|ine B
0 + 1 + } t 1 +
Mon Tues Wed Thurs Fri Sat Sun
ﬁ Day of the Week PS

5a. Liz made a mistake when she plotted
her line graph. Where do you think the
mistake was made? Convince me.

Temperature in London and Madrid

(]
(=]
1

e=iii==|ondon g Madrid

Temperature (°C)
> @

12am

épm

bam 12pm

Time of Day R

W

5b. Martin made a mistake when he
plotted his line graph. Where do you think
the mistake was made? Convince me.

Weight of Children's German Shepherd Dogs
45 ]

40 e=fi==Theo's Dog ==e==Holly's Dog

2 4 6 8 10 12
ﬁ Age (Months) &

éa. Peter said that his car took 14 seconds
to reach its top speed. Is he correct?
Explain why.

Speed of A Car During a Race

110 T
100 T
90 +
80
70 +
60 +
50 T
40 +
30 +
20 T
10 +

0 i

Speed (mph)

2 4 6 8 10 12 14 16 18 20

ﬁ Time (seconds)
R

4b. Isla said that the distance she ran
increased between 16 and 18 seconds. Is
she correct? Explain why.

Isla’s Running Distance

=

5

o
1

—
-
o

[

T

Distance (m)
~J
(=]

[4,]
o
| T P R TEan DR M M S |

2 4 6 8 10 12 14 16 18 20
Time (seconds)

© Classroom Secrels Limited 2018

classroomsecrets.co.uk

Reasoning and Problem Solving - Read and Interpret Line Graphs - Year 5 Expected




Read and Interpret Line Graphs

Read and Interpret Line Graphs

7a. The UV Index was higher overall in
Panama than Madagascar. Which line
represents Madagascar?

UV Index Over Time

15 1
10 +
» 4
)
T
£
>
=2 5 L
e=g=m=|ine A
==fif==ine B
0 1 3 } 4 + + t } + } + 1
A Jan Feb Mar Apr May Jun Jul Aug Sept Oct Nov Dec
Yool Month Ps

7b. The rugby match at Hull had a lower
noise level overall than the match at
Halifax. Which line represents the Halifax

match?
Noise Level at Rugby Matches

100 ¢
T e=fil==line A
1 s=gemine B
™
T 80 +
b 1
>
9
P 3.
(%)
‘o0 60 +
z -
40 1 1 : i 1 } 1 ! } f—l
A 5 10 15 20 25 30 35 40 45 50
1‘35\/ Time (minutes) PS

8a. Eva made a mistake when she ploited
her line graph. Where do you think the
mistake was made? Convince me.

Distance Travelled by Trains

800
=g Traiin 2

=l Train 1

\ 1 2 3 4 5 6

Number of Hours R

8b. Emilio made a mistake when he
plotted his line graph. Where do you think
the mistake was made? Convince me.

Average Height of Two Classes in Year 5

1.45
=== Class 1 amg= Class 2
. 1 2 3 4 5 3
‘760( Term R
|

9a. Isaac said that his car took 3.5
seconds to reach its top speed. Is he
correct? Explain why.

Speed of a Car During a Race

9b. Molly thinks she was quicker than Will
in the first 2.5 seconds of the race. Is she
correct? Explain why.

Running Distance of Molly and Will

80 T
e=gm=|saac  ==l==Kath 1 = Molly === Will

100

g E

< g

© =

o 50 g

o a

0 t t + + t } + + + t + t } 4 } t } + t t
,é\[; 0 1 2 3 4 5 N, o0 1 2 3 4 5
YGD, .

\L( Time (seconds) R ] ( Time (seconds) R
CLASSROON 2275

© Classroom Secrets Llimited 2018
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Reasoning and Problem Solving — Read and Interpret Line Graphs - Year 5 Greater Depth




Read and Interpret Line Graphs

Read and Interpret Line Graphs

1a. What were the highest and lowest
temperatures recorded?

Temperature on Monday

24 //\
520 -~ =
2 18 =4
0 16
2 14 //
g 12
€10l o= 8
£ 8
2 oe
4
2
0 t + ¢ — +
6.00 9.00 12.00 15.00 18.00

Time

& :

1b. How much snow fell between Friday
and Saturday?

Snowfall Accumulation

e )
o~ o O

m
-
-9

L2 /
T 10
§ 8 '//
w b T—e
4
2
0 t 1 } 1 : 1
Mon Tue Wed  Thur Fri Sat Sun

Day

S .

2a. Which months saw more than 4mm of
rain?

Average Rainfallin Death Valley (USA)

m)

— — — — —
O=NWhALNONDVO—=NLL

&

,_.
\ /

% A

Jan Feb Mar Apr May Jun Jul Aug Sep Oclt Nov Dec
Month

& .

Amount of Rain (m

2b. In which weeks were the
temperatures 30°C or above?

Average Temperature During The School
Holidays

32 //'—
30
G 28 /\

< 24
L 2g

@ 20
£18
= 16
14
12
10

P ,

3a. In which season did the height of the
bamboo reach over 5m?

Height of Bamboo

ek gl

Height (m)
O—=NWhNoNDRVO—

3b. How long did it take the astronaut to

reach 7m?
Moon Jump

Height (m)

Seconds

S ,

© Classroom ée.creis limited 2018
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Varied Fluency - Read and Interpret Line Graphs - Year 5 Developing




Read and Interpret Line Graphs

Read and Interpret Line Graphs

4a. What was the difference in
temperature at Midday?

Temperature in London and Madrid

40
351
gso‘
v 25 @
=]
520
015
10
=

5

/.\;\\:
/
0

éam Midday épm Midnight

ﬁ Time
VF

4b. What was the difference in height at é
weeks?

Height of Sunflowers

65 -
gg i //.4/.”
2] P
/ i
.
7
//-///
e

Height (cm)
MR @w s

—_
otounounon,
1

1 2 3 4 5 6 7 8

Week
ﬁ? VF

5a. How many months saw more than
40mm of rain?

Rainfall Each Month in London

a

100
20
80
70
60
50
40
30
20
10

0

Amount of Rain (mm)

\O'Q Qéo \S‘:} vf? @6\ \00 ";"’\ v_«b‘b‘,@& 0(} Q‘OA 9@0

Month

% .

5b. In which months were the
temperatures below 0°C?

Temperature in Daisy’s Greenhouse
30

28 /ﬂ
26
24 AN

Temperature (°C)
oo
//

Month
W "

4a. Who was taller in Year 4? Who was
taller in Year 57

6b. Which vehicle travelled the farthest
between 12pm and 4pm?

Height Comparison Distance Travelled by Car and Bus
158 260
156 ggg 1+ —8—Car —®—Bus /0
154 : @ 200 e
T 152 | o 3 10 i
= 150 | | | | £ 140 p ~
5148 i ‘ ’ i | 2 120 i
be 441 ST
144 ey — 40 o
142 —afHf— —®—Ivy —8=Toby _ 20 P
140 f=_. ‘ : ; | e 0 / } } " —
1 2 3 4 5 5 12pm Tpm :.I;pm 3pm 4pm
ﬁ Year Group VE ﬁ i VE
e classroomsecrets.co.uk

© Classroom Secrels Limited 2018
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Read and Interpret Line Graphs

Read and Interpret Line Graphs

7a. What was the difference between
both juices consumed on Wednesday?

Juice Consumption

600

—&—Orange  —e— Apple
" ®
0]
0 L 1

Wed Thurs Fri

Day

Mon Tues

iGDE VF
b’

7b. What was the difference in
temperature in Madrid and Helsinki at
Midday?
Temperature in Madrid and Helsinki
40 T -
20 + /

— —e—Madrid —m— Helsinkl

0 1 + | + | t d
6.00 9.00 1200 1500  18.00

Time
VF

Temperaiure (°C)

8a. Which months had the highest
amount of rainfall for each city?

Average Rainfall

—#—Sydney

—&—London

120 §

Rainfall (mm)

" PR M ruiil DT 1 o] TR | 1
Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Month

vi‘/;ir VE

8b. In which week did each person'’s
sunflower pass a height of 100cm?

Growth of Sunflowers

—8— Mahmood —O—S;:irah

150

Height (em)
=)
o

50

1 2 3 4 5 & 7 8
Number of Weeks

9a. How many hours did each vehicle
take to travel 400 miles?
Distance Travelled by Different Modes of Public

Transport
—I—quin —e—Bus
z i !
= : ‘ -
2 b — —1—
g 400 Fo—————
=1 T { t |
2 3 =8|
N =
o =1
200 +— — 5 —
0 :- | | | I |

1 2 3 4 5 6 7 8 9 1011 12

%

Time (Hours) VF

9b. How long did each vehicle take to
reach 150mph?

Speed of Two Vehicles

—8—Vehicle1 —®—Vehicle2 ' | —

200

Speed (mph)

100

ol

Time (secs) VF

CLASSROOM =
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Varied Fluency - Read and Interpret Line Graphs - Year 5 Greater Depth
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Pokédex
nuber ¥

Pokémon name Weight Type Attack Defense
(g) points  points
 pulbasaur || 70 69 Grass | 49 | 4a
© lvysaur | 100 130 | Grass | 62 | 63
Venusaur 5 o 200 1000 Grass 204 83
‘Charmander | 60 85 | Fire | 52 _‘ 43
Charmeleon 110 190 Fire 64 | 58
 Charizard 170 905  Fire 84 | 78
Squirtle | 50 50| Water| 48 | 6%
~ Wartortle 100 225 Water | 63 | 80
Blastoise 160 855 Water | 83 100
 Caterpie | 30 29 | Bug | 30 35
R e R SRR e TR G
“Butterfree | 110 | 320 | Bug | 45 | 50
Weedle e #30 DI 35 30
 Kakuna | 60 100 | Bug 25 | 50
e T R ) RE e AR e Ay
Pidgey | 30 18 | Normal | 45 | 40
Pidgeotto | 110 | 300 | Normal | 60 55
" pidgeot | 150 | 395 | Normal | 80 | 75
o Rattata: B0 e Nonmall 8 35
~ Raticate 70 | 185  Normal | 81 | 60
S'p'earow 30 20 " Normal 60 30
 Fearow | 120 380 | Normal | 90 | 65
R RS Ty SR B
Aok | 30 0 bosn 8 6
Pikachu [ 40 60 Electric 55 40
Raichu | 80 | 300 | Electric =~ 90 55
Sandshrew | 60 120 | Ground 75 85
" sandslash | 100 | 295 | Ground | 100 = 110
* Nidoran (Female) ‘ 40 70 Poison | 47 52
 Nidorina | 80 | 200 | Poison | 62 67
Nidogqueen Lo et190 600 | Poison 92 87
| Wdoran(Male) | 50 | %0  Poson | 57 40
Nidorino 90 195 Poison 7 57
~ Nidoking _‘| 140 | 620 | Poison | 102 | 77
 Clefairy EsdER s R 48
Clefable | 130 | 400 | Fairy | 70 73
Vulpix 60 GE T Re 40
 Ninetales | 110 | 199 | Fre 76 75
G R BE i Nommal | 4B | 20
 Wigglytuff | 100 120 | Normal | 70 a5
PR O 75 | Poison | 45 35
~ Golbat | 160 | 550 | Poison | 80 70
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Measuring Angles in Degrees

Measuring Andgles in Degrees

1a. These mice are facing west. They
need to turn to face north to find the

cheese.

We need to turn
through a right

Sqlly angle.
We need to make .
/.- \ a 270° turn %(\
clockwise. Tl

Fahad

\/

Who do you agree with? Explain.

Y ,

1b. These pirates are facing north. Their
captain tells them they need to turn to
face south.

ﬁ We need to turn 90°.

We need to make
q—— turn.

Tara

AN

Jake

/‘"\
\/

Who do you agree with? Explain.

7 :

2a. Which of the following cards could be
used to complete the statement? Give all
of the possible answers.

) ()
i) )

Turning from Efo

Y .

/'\
\./

> a 180° turn

2b. Which of the following cards could be
used to complete the statement? Give all
of the possible answers.

EE
o A

¢ :

ftoN < a180°turn

3a. Starting at 12:15, the minute hand
makes more than 4 but fewer than 7
quarter turns clockwise.

What times could the clock show after the
turns?

3b. Starting at 18:30, the minute hand
makes more than 3 but fewer than 6
quarter turns clockwise.

What times could the clock show dafter the
turns?

ﬁ PS
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Measuring Angles in Degrees

Measuring Angles in Degrees

4a. These pirates are facing north west
and their captain tells them that they
need to turn to face south.

»

S

We need to turn
through a reflex

e angle.
Peter =
We neesd to make
NW NE a— turn
/ \ clockwise.

sw\ A

Who do you agree with? Explain.

¢ :

4b. These mice are facing south west.
They need to turn to face east to find the
cheese.

We need to turn
through an obtuse
angle anti-clockwise.

Mlic
N We need to make
NW NE
/" \ a_ turn. )
w E
Yasmin
SW SE
S

Who do you agree with? Explain.

Y R

5a. Which of the following cards could be
used to complete the statement? Give all

of the possible answers.
E ][ s

] ()
s e w [

A turning from o
360° >  SEto g 043
4 : furn
turn anti-clockwise

% .

5b. Which of the following cards could be
used to complete the statement? Give all
of the possible answers.

) (e L) (e
o) (o) () ()

A turning from a
45° < NW to >  270°
turn clockwise turn

& .

4a. Starting at 09:10, the minute hand
makes more than 5 but fewer than 8
quarter turns clockwise.

What times could the clock show after the
turns?

4b. Starting at 15:35, the minute hand
makes more than 4 but fewer than 7
quarter turns anti-clockwise.

What times could the clock show after the
turns?
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Measuring Angles in Degrees

Measuring Angles in Degrees

7a. These children are facing SW and their
teacher has told them to turn clockwise

and then a greater turn anti-clockwise to
che W.

We need to make a
—>_turn and then a right
angle.

\@

Hafash
Who do you agree with? Explain.

B2y R

Dcmlel

We need to make a
45° turn and then a
whole turn.

7b. These children are facing NE and their
teacher has told them to turn clockwise
and then a greater turn anti-clockwise to
face W.

o

Kyle

We need to turn 135°
and then an acute
angle anti-clockwise.

We need to make a
3 turn and then a
8 reflex angle.

Hatfie
Who do you agree with? Explain.

B R

8a. Which of the following cards could be
used to complete the statement? Give all
of the possible answers.

L) (ne ) () (o
s ) Cee e (Low)

A turning from a 3
405° > to NE > 8
= . urn
turn anti-clockwise
A
Bl PS

8b. Which of the following cards could be
used to complete the statement? Give all
of the possible answers.

) (e ) () (o)
) (et (i (i)

A turning from 3 1
135° < to SW > 8
R turn
turn clockwise
>,
o PS

9a. Starting at 18:47, the minute hand
makes more than é but fewer than 9
twelfth turns.

What times could the clock show dfter the
turns?

B PS

9b. Starting at 05:11, the minute hand
makes more than 5 but fewer than 8
twelfth turns.

What times could the clock show after the
turns?

2
o | PS
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Reasoning and Problem Solving
Measuring Angles in Degrees

Developing
1a. Sally is correct because a right angle

(90°) turn clockwise will reach North.
Fahad is also correct as a 270° turn anti-
clockwise will also reach North.

2a. N and E clockwise or S and E if anti-
clockwise.

3a. 5 quarter turns clockwise - 13:30 or
6 quarter turns clockwise - 13:45

Expected
4a. Peter is correct if they turn clockwise

because the turn is more than 180° to face
South.

5a. NE, N, NW, W, SW and S.

ba. 6 quarter turns clockwise - 10:40 or

7 quarter turns clockwise - 10:55

Greater Depth

7a. Hafash is correct because after the 45°
turn she will be facing W. Then a whole
turn is 360° which is greater than 45° and
she will be facing W again.

8a. NE, N, NW, W and SW.

9a. 7 twelfth turns clockwise - 19:22;

8 twelfth turns clockwise - 19:27; 7 twelfth
turns anti-clockwise - 18:12; 8 twelfth turns
anti-clockwise - 18:07

CLASSROONT 27+
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Reasoning and Problem Solving
Measuring Angles in Degrees

Developing i
1b. Tara is correct because a 5~ turn in

either direction will have them facing
South.

2b. W clockwise or E anti-clockwise.
3b. 4 quarter turns clockwise — 19:30 or
5 quarter turns clockwise — 19:45

Expected
4b. Mitch is correct because if they turn

135° anti-clockwise they will be facing E
and 135° is an obtuse angle.

5b. NE, E, SE and S.

éb. 5 quarter turns anti-clockwise - 14:20
or 6 quarter turns anti-clockwise — 14:05

Greater Depth

7b. Hattie is correct because if she turns
clockwise —-, this will be a 135° turn and
she will be facing S. Then if she turns a
reflex angle of 270° anti-clockwise she will
be facing W.

8b. N, NE, NW, SW, W

9b. 6 twelfth turns clockwise — 05:41, 7
twelfth turns clockwise — 05:46; 6 twelfth
turns anti-clockwise - 04:41; 7 twelfth turns
anti-clockwise - 04:36

classroomsecrets.co.uk

Reasoning and Problem Solving — Measuring Angles in Degrees ANSWERS



Measuring Angles in Degrees

Measuring Angles in Degrees

1a. Label each image with the name of

w (..(:l\ B w /N\ E
\\/ ()%
D.w /N\E D-wé(‘z:‘:;\»E
\3/ VF ﬁ ‘\:!y VF

the angle.

1b. Label each image with the name of

2d. Look at the time on the clock. Draw
where the minute hand will be after a
right angle turn anti-clockwise.

VF

2b. Look at the time on the clock. Draw
where the minute hand will be after a 90°
turn anti-clockwise.

VF

3a. How many degrees will | move
through if | furn from N to W clockwise?

/’\
\/
W

VF

3b. How many degrees will | move
through if | turn from S fo W clockwise?

/\
\/
W

VF

4a. How manyL turns are equal to

A
L P

VF

4b. How many _1_ 1 turns are equal to

AR
L RP

VF

5a.Use >, <or=to compleie the
equation.

é?

2 turn

180°
80 1

VF

5b. Use >, <or=to comple’re the
equation.

Y

360°

3
— 1
A urn

VF

CLASSROOM -

© Classroom Secrets Limlted 2019

classroomsecrets.co.uk

Varied Fluency — Measuring Angles in Degrees — Year 5 Developing



Measuring Angles in Degrees

Measuring Angles in Degrees

éa. Label each image with the name of
the angle.

va\ “WNE
sv:\. /(SE

- NW NE
s e
S VF

éb. Label each image with the name of

the angle. N

7a. Look at the time on the clock. Draw
where the minute hand will be after a
270° turn clockwise.

VF

7b. Look at the time on the clock. Draw
where the minute hand will be after a 90°
turn anti-clockwise.

VF

8a. How many degrees will | move
through if | furn from NE to N anti-

clockwise?
Nw/( "\NE
"R ,AE

VF

8b. How many degrees will | move
through if | turn from SW to N clockwise?

”‘V\
w?\/
W

VF

9a. How many_l_ turns are equal to

Nw/( 5\1\%
ﬁﬁ sv& )/SE

VF

9b. How many _1_ 1 turns are equal to

mone
ﬁ SV&/

VF

10a. Use >, < or = to complete the
equation.

W

-5 turn

135 8

VF

10b. Use >, < or = to complete the
equation.

3 turn

180 4

W

VF
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Measuring Angles in Degrees

Measuring Angles in Degrees

11a. Label each image with the name of
the angle.

A "\ B. [ Minute hand
w E moves from 5 to
/ 15 clockwise
S
- Minute hand D'[ SW to N ]
moves from 4 to 9 clockwise
A clockwise.

'\JGD/

{

vE |

11b. Label each image with the hame of
the angle.

A. B.| Minute hand
moves from 7 to
12 clockwise.
C.
SW to NW anti- SE fo NE
clockwise

clockwise

VF

12a. Look at the time on the clock. Draw
where the minute hand will be after a
120° turn clockwise and _3_turn anti-
clockwise. 4

./\

NGD

l;‘\

VF

AN
g

12b. Look at the time on the clock. Draw
where the minute hand will be after a
270° turn anti-clockwise and _1_ turn
clockwise. 4

VF

13a. How many degrees will | move
through if | furn from NE to N anti-
clockwise and N to SW clockwise?

/"\
\/

13b. How many degrees will | move
through if | turn from SE to N clockwise
and N to § anti-clockwise?

/‘\
\/

VLN

I,
¥l VF '”‘,GD{ VF
14a. How many _1_ turns are equal to 14b. How many _1_ 1 turns are equal to
270°? 12 180°?

" B Y /

i | B v

15a. Use >, < or = to complete the
equation.

15b. Use >, < or = to complete the
equation.

270° % turn acute 135° 1 - reflex
A angle e 8 angle
= we | B
CLASSROOM
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Varied Fluency
Measuring Angles in Degrees

Developing

1a. A —right angle; B - right angle; C -
reflex; D - reflex

2a. 6

3a. 270°

4a. 4 turns

ba. =

Expected

éa. A —right angle; B - acute angle; C -
reflex angle; D - obtuse angle

7a.7

8a. 45°

9a. 4 turns

10a. =

Greater Depth

11a. A -right angle; B - acute angle; C -
obtuse angle; D - obtuse angle

12a. 8

13a. 270°

14a. 9 turns

15a. =, >

cm-.‘{f et

© Classroom Secrels Limited 2019

Varied Fluency
Measuring Angles in Degrees

Developing

1b. A -reflex angle; B -right angle; C -
right angle; D - reflex angle

2b. 9

3b. 90°

4b. 3 turns

5b. <

Expected
6b. A - obtuse; B - right angle; C — acute

angle; D - reflex angle
7b. 2

8b. 135°

9b. 6 turns

10b. <

Greater Depth

11b. A - acute angle; B - obtuse angle; C
- reflex angle; D - right angle

12b. 1

13b. 405°

14b. 4 turns

15b. >, <

classroomsecrets.co.uk

Varied Fluency — Measuring Angles in Degrees ANSWERS
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L.O —To use a protractor to measure angles

Tip: Make sure you line up the cross of the protractor with the corner of the angle.

Challenge: Write whether each angle is an obtuse, acute or right angle. Then use a protractor to
measure each angle.

/
7
|

Now can you use the protractor to draw angles of the following degrees?

1) 45°

2) 120°
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AR A AT LRSI U e Ny N f icei
LA S ' 3 1) Find the missing angles

a) b) K

60"\, ? 100° | ? I 160°

1550 ? N 1350 ?

h) )
i45° X

g)

138° X 2

f%tﬂL(S‘{q{ (X \L!k@{j%{.ix{\i 8 léﬁﬂ



?)  Find the missing angles

? 32° 106°
30° 45° 38° ? ?

d) \ e) f

?
? 31 ,
89° |/ 51° 132° 33° 9 -

21°
104° ?
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